2023F12H 238 =

a HEUT2EBOEFEERS

59

1. VORSKFOHEEERT
2. ifOE EHHBEDANT

3. HEARIMEEREFRDIELY
4. BRINT—HDRS. DA

60

30



2023F12H 238 =
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1.9 0AKTDHEEE RS

CSVI7AIDIDI> b

import numpy as np
import pandas as pd

from google.colab import files

uploaded = files.upload()
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2023F12H 238 =

1.7 0AKEDHETE E RS

CSVI7AIDI D> b

import pandas as pd
import io

df = pd.read_csv('sample_cross.csv')
print(df)

K& A 55 F6
B Liho7 B 31
B Lixdofc kit 28
A Liziore &t 25
A Lizivorz B 31
B Lizmofz Bk 33

P hAWN=O

988 B Luxiofz kit 27
989 B Lamor Bt 25
990 B Luor= Bt 32
991 B Labors &tk 32
992 B Lzbors &tk 28

[993 rows x 4 columns]
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1.9 0AKTDHEEE RS

CSVI7AIDYI> b
n=Ilen(df)
print(n)
df.head()
= 993
K& BA %3 =% H
0 B L&h-7% B 31 m
1 B L#uh-t xi 28
2 A L#Ebh-7k #iE 25
3 A Luah-7t BiE 31
4 B Luh-7 HBH%E 33
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1.7 0AKEDHETE E RS

2023F12H 238 =

CSVI7AIDIDI> b

ad_cross=pd.crosstab(df['I;x&'], df["%51'])
ad_cross

#3 e B H
K o
A 200 199
B 297 297
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1.9 0AKTDHEEE RS

CSVI7AIDIDI> b

ad_cross=pd.crosstab(df['B8A'], df['[LE&'])
ad_cross

E ks A B [
BA i
B = 41 68
L&h-7 358 526
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2023F12H 238 =

1.7 0AKEDHETE E RS

CSVI7AIDIDI> b

ad_cross=pd.crosstab(df['[A5'], df["I%5I'], normalize=True)
ad_cross

B wn oz s H pandas.crosstab()
P 7 5|4 : index(CHRERDITRE U
£ 51%8 : columsICHERDIIRE LU
Sl 5|%normalize TRk - 172 & - FIT &IC
B  0.299094 0.299094 ;E*gﬂ: (J—_E;E'ﬂ:)

pandas.DataFrame ZiR 9

67

2. 58070 EAEBADERANTS

BfmE & (T
2DDEZRNSIRBDIUBDT—INESNIEESZIC, 22
DEZRDEcH DR (1BEERE%R) ER3126HDT ST,
RERRERZR (EE55MWRRERDT, BE5—AMEEC
D) ZRIEDTIFR, QC7DEED—D,

Bl1) BEOREREBORE  BMEORBNSVEREILREE
DEHEEMEENH D (RIEZHD) .

512) ShrEDEEE LA  EFENEZX D EARNEIERSD
() o
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2023F12H 238 =

2. 8070 EHHBEDRANT

iE|Esbag iy

2DDER QBEH) BOREGRZEETRIRIT DTG E.
[#8R8] E(E2DULEDEHNHDEEC, TENSBW
HBUTWBDL ] 0D THELME] #8KT D, 2D
DEEDHFIEIUEL UTzED% [HHEERE] 0D,
[FBE | oicx [-1Hh51] FTOEHETERIESIND,
IE (Fr2ids) OHEEREMENEBONEEL (Feld-1)
T <, MBABRENIBWLNEECIEL IR,
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2. 5800 EHHBEDHANTS

CSVI7AIDIDI> b

from google.colab import files

uploaded = files.upload()
import pandas as pd
import io

df = pd.read_csv(io.BytesIO(uploaded['sample_covid19.csv']))
df
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2. 5800 EHHBEADHANTS

2023F12H 238 =

CSVI7AIDIDI> b

google.colab t files

uploaded = files.upload

sample_covid19.csv

+ sample_covid19.csv{text/csv) - 42033 bytes, last modified: 2023/12/17 - 100% done
§ 0 di9.ce

Saving samp|e_covid19,cev to sample_co

)
df = pd.read_csviio.Bytes|Oiuploaded( ‘samp| dig )
df
Date AL Hokkaido Aomori Iwate Miyagi Akita Yamagata Fukushima Ibaraki ...
o 2021/1/1 3249 28 10 4 30 3 3 12 42 55 6 6
i 2021/1/2 3055 7 4 2 4 13 20 .. 6 7
2 2021/1/3 3136 68 10 3 20 3 6 14 52 .. % 11
3 2021/1/4 3333 93 10 0 18 3 5 25 RN . 9 2
4 2021/1/5 4936 79 7 6 37 8 5 25 67 25 7
268 2021/9/26 2146 54 14 2 16 0 1 9 47 10 0
269 2021/9/27 1159 19 s | 6 1 1 3 31 2 3
270 2021/9/28 1743 26 25 0 12 6 1 3 25 10 4
271 2021/9/29 1980 45 23 1 21 1] 1 4 44 7 7
272 2021/9/30 1571 26 23 1] 14 2 1 5 20 14 3

273 rows x 49 columns

Ehime Kochi Fukuoka

138
124
104
128
187

88
46
43
44

R = -

Saga Magasaki Kumamoto Oi

1 20 30
5 28 26
3 30 22
23 24 34
10 55 63
4 8 14
12 El 10
8 5 17
8 7 19
6 6 15
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2.5 EHHBED

CSVI7AIDIDI> b

# AU —5DmEB %
RS9 DNMEE
df.iloc[:,9]

df.iloc[:,14]

© dfiloc(:,9]

268
269
270
271
272 20

Name: Ibaraki, Length: 273, dtype: int64

O~

df['Ibaraki']

df['Tokyo']

df.iloc[:,14]

0 793
1 829
2 826
3 905
4 1315
268
269
270
271 268

272 219

Name: Tokyo, Length: 273, dtype: int64

302
155
250
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2023F12H 238 =

2.3 E CHHBIDANTS
J0v b (RREERIBIRDHFMRBREL)

% matplotlib inline 500D e
# 95 7v—)L matplotlib% >K— . . o o
import matplotlib.pyplot as plt 2000 W’
# HS5—JU>20FBY—)LEA>R— b ol | Seiew @
import warnings 0o ChN 0

2 3000 ° "".
#xlabel. ylabell@X#h, YéhzisET D © ° ge
plt.style.use('ggplot') 2000 o e .

plt.plot(df.iloc[:,9],
df.iloc[:,14],'bo") 1000
plt.xlabel('Ibaraki')

plt'ylabel('TOkyO') 0 50 100 150 200 250 300 350 400
plt.show() Ibaraki
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2. 58070 EAEBADERANTS

O e i = s‘n
w N (RREEFIBROFMRRLEE)  HHEFRE
7 D J 73N —A Y [1Y n 71
Ishikawa U./93950
© AL 0933407 Fuksi  0.736283
Hokkaido  0.562570 Yamanashi 0.875588
ﬁvoar::ﬂ 00733258967 Nagano  0.794002
vate 0. Gifu  0.681034
. . ﬁL’»fﬁ" g-gs;; 3577 Shizuoka  0.848566
_ i ; Aichi  0.634805
y_CO|Um— TOkyo Yamagata 0.599073 Me 0738161
Fukushima 0.857339 Shiga  0.838877
lbaraki  0.919476 Kyoto  0.852544
N . . Tochigi  0.916396 Osaka  0.757124
# EAROHEBMREZETE L. corrd Sema  Canssen Hyogo  0.740625
) _ o - ara .
Chiba  0.911269 Wak 0.751228
matrix L (CRRSED Tokyo  1.000000 Tottori | 0.797398
g —_ Kanagawa 0.932625 Shi 0.708764
corr_matrix = df.corr() Nt 85300 e WSS
5 — Toyama  0.835855 Hiroshi 0.665415
# ’Eg&y_corr(_y_colum(ji DTOKYO) Ir;s:lil:fwa 007.223330 Y::\Zglumc::'n 0.670897
&@*E E@ﬁ{%g&%*ﬁ%w Yamanashi‘ 0.875588 ;:;:\s;:ma 008232336
_ . | Nagano  0.794002 Ehime  0.733994
y_corr = corr_matrix[y_colum] Gifu  0.681034 Kochi  0.660480
— — — ihl:gcka - 83{1';%5565 Fukuoka 0.882209
ichi . Saga 0.786857
y_corr Mie 0738161 Nagasaki 0789520
;’hlgtﬁ %883582857474 Kumamoto 0.856704
yoto . Oita  0.722250
Osaka 0.757124 Miyazaki 0.761319
nyego 0077]"]%(;?25 Kagoshima 0.828517
ara 5 Okinawa  0.893809
Wakayama 0.751228 Name: Tokyo, dtype: float64
Tottori  0.797398

74

37



2023F12H 238 =

2. 5800 EHHBEADHANTS

J0v b CRRE ERBIRDOHMRBRREL)

y_colum='Tokyo'

corr_matrix = df.corr()['Ibaraki']
y_corr = corr_matrix[y_colum]

Yy_corr

[ 0.9194759486275046

: tHBSFRER

75

2. 5800 EHHBEDHANTS

JOv b (BHRE

plt.style.use('ggplot')
plt.plot(df.iloc[:,9],
df.iloc[:,3],'bo")
plt.xlabel('Ibaraki')
plt.ylabel('Aomori')
plt.show()

[ 0.6844695489050351

ERIBIRDFFRRREHZN)
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2023F12H 238 =

2. 5800 EAEBDEANTS

J0v b~ (#RIIREitisEDFHFRBREL)
plt.style.use('ggplot) 000 .
plt.plot(df.iloc[:,2], 200 ®e o, °
df.iloc[:,15],'bo") °* 23+ o
plt.xlabel('Hokkaido") 2000 of o, 1
plt.ylabel('Kanagawa') o a e i .
plt.show() S 1500 g o« %
§ # 1000 ° ..o'
0.5503568815983438 N7
500 ® L ]
a:”’%’.”‘ o o, *30% o0
0
0 100 200 300 400 500 600 700
Hokkaido
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3.HEFRM EEREFRDIZEV oz 3230870

HHBIFREX
2 DDOREEDMIFEFEIL LTz EDZ [HERE] &S,
[ZBUE] DicZz [-1H151] FTOFEETRFE=ND,
IE (Fzld&) oEEREFRMNERVNEEL (FEF-1) (Gia<,
HEEAREIRANN S LME E0CIE LT D,

IEDHERE [mEE

RB(FEHETER : https://www.stat.go.jp/naruhodo/10_tokucho/hukusu.html
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2023F12H 238 =

2. 89 E & HBDAN S - iris dataset -

irisT—4atv b

import pandas as pd

import seaborn as sns

sns.set()

iris = sns.load_dataset('iris')
titanic = sns.load_dataset('titanic')

79

2. 89 & BN S5 - iris dataset -

F—5ty FOFIF
print(iris.head())

sepal_length sepal_width petal_length petal_width species
0 5.1 3.5 1.4 0.2 setosa
1 4.9 3.0 1.4 0.2 setosa
2 4.7 3.2 1.3 0.2 setosa
3 4.6 3.1 1:5 0.2 setosa
4 5.0 3.6 1.4 0.2 setosa
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2023F12H 238 =

2.8 & HBREADAN - iris dataset -

>S—atv ~DOFIA
print(titanic.head())

1 female 38.0

1 female 35.0

HBWN—=O
O b ok ok O

WN —= O

survived pclass sex age sibsp parch
3 male 220 1 0 7.2500 S Third
1 0 71.2833 C First
3 female 26.0 0 0 7.9250 S Third
1 0 53.1000 S First
3 male 350 0 0O 8.0500 S Third

who adult_male deck embark_town alive alone
man True NaN Southampton no False
woman False C Cherbourg yes False
woman  False NaN Southampton yes True
woman  False C Southampton yes False
4 man True NaN Southampton no True

fare embarked class

81

2.8 & HBREADAN - iris dataset -

>S—atv FDOFIA

print(iris.head())
print(iris.info())
print(iris.shape)
print(iris.ndim)
print(iris.columns)

[E

sepal_length sepal_width petal_length petal_width species
0 5.1 3.5 1.4 0.2 setosa
1 4.9 3.0 1.4 0.2 setosa
2 4.7 3.2 1.3 0.2 setosa
3 4.6 3.1 1.5 0.2 setosa
4 5.0 3.6 1.4 0.2 setosa

<class 'pandas.core.frame.DataFrame'>
Rangelndex: 150 entries, 0 to 149

Data columns (total 5 columns):

# Column Non-Null Count Dtype
0 sepal_length 150 non-null float64
1 sepal_width 150 non-null float64
2 petal_length 150 non-null float64
3 petal_width 150 non-null float64
4 species 150 non-null object
dtypes: float64(4), object(1)

memory usage: 6.0+ KB

None

(150, 5)

2

Index(['sepal_length', 'sepal_width', 'petal_length', 'petal_width',
'species'],
dtype="'object’)
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>—5tv hOFIA

% matplotlib inline

import matplotlib.pyplot as plt
import warnings
warnings.filterwarnings('ignore')
plt.style.use('ggplot')
plt.plot(iris.iloc[:,1], iris.iloc[:,2],
lrol)

plt.show()

2.0

2023F12H 238 =

2.8 & HBREADAN - iris dataset -
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2. 5010 & HBEIDEEA/NF5 - iris dataset -
S—Atv fOFIH

iris.corr()

sepal_length sepal_width petal_length petal_width

sepal_length 1.000000 -0.117570 0.871754 0.817941
sepal_width -0.117570 1.000000 -0.428440 -0.366126
petal_length 0.871754 -0.428440 1.000000 0.962865
petal_width 0.817941 -0.366126 0.962865 1.000000
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2.8 & HBREADAN - iris dataset -

2023F12H 238 =

>S—atv FDOFIA

y_colum='sepal_width'

corr_matrix = iris.corr()
y_corr = corr_matrix[y_colum]
y_corr

sepal_length -0.117570
sepal_width 1.000000
petal_length -0.428440
petal_width -0.366126
Name: sepal_width, dtype: float64

85

2.8 & HBREADAN - iris dataset -

F—5tv ~OFIA
print(iris.describe())

sepal_length sepal_width petal_length petal_width

count 150.000000 150.000000 150.000000 150.000000

mean  5.843333 3.057333 3.758000 1.199333
std 0.828066 0.435866 1.765298 0.762238

min 4.300000 2.000000 1.000000 0.100000

25% 5.100000 2.800000 1.600000 0.300000
50% 5.800000 3.000000 4.350000 1.300000
75% 6.400000 3.300000 5.100000 1.800000
max 7.900000 4.400000 6.900000 2.500000

86

43



2. 890 & HHEADEN S - iris dataset -

2023F12H 238 =

pg=sns.pairplot(iris)
plt.show(pg)
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2023F12H 238 =

2.8 & HBDANS - iris dataset -

pg=sns.pairplot(iris,hue="'species')
plt.show(pg)

89
species
& setosa
e versicolor
e virginica
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0.0 A =
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2023F12H 238 =

2. 890 & HHEADEN S - iris dataset -

pg=sns.pairplot(iris,hue="species’, kind="reg")
plt.show(pg)

91
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2023F12H23H %=

2.8 & HBDANS - iris dataset -

pg=sns.pairplot(iris,hue="'species', kind='reg' ,plot_kws={"ci'":
None,'marker': '+','scatter_kws': {'alpha': 0.4},'line_kws":
{'linestyle": '--"}})
plt.show(pg)
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2023F12H 238 =

3. HHERE & ERBERDIELY

FHEAFRER
2 DDEEDEFELUIcEDZ [HERE] £WhD,
[FBUE ] Osg=h [-1H051] T TORHBE TRH=ND,
IE (FzF&) oOHEERB/MENEEL (FE-1) Sk
<, HHEEBHRN ELVEE0CIELIED,

IEDHERE SOEE FEEDVEL
| 14 | T

RBIFEFETFER : https://www.stat.go.jp/naruhodo/10_tokucho/hukusu.html
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3.4HBAfRE & EREARDIE L

EISRES
[RRIEZNICX D TEUDBREDER]  (LEFE.
F6hR) ZEREREND., BERET D MHLADEICH LY
C. BER>HSNDINBRANERZEER (EOHER
BMR) (IR TWLWRWC EEHDIEsD. TDHIBRIC(FTE
BN ETHD,
(it EIEABAREF =  https://jeaweb.jp/glossary/glossary015.html)

THBER% : ACBDOEMICIRASH DEEMEN DD ED
FRER : AZIRRE U TBAEEFTD L
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2023F12H 238 =

4.K5RNFT—HIDRAE. PRHE

RFRIIT—5
FERIEFZ S BRVEINSERIESND T —FDT &,
HD—TEDR IR TR SNIZT —F. AR MY
FULEKZ - SBERENZTEND,

B RIVERAT © KERHIT — & ([CBOERIFHEIEELZD,
B5R57 — Y DIFRDEZ TR U2 D 3 DER(CHERN IR

Bl) KT —4, RRFBOKBLBAERLEDRRT—F,
 AOfET—4, BT —4, BEET—5, e

______________________________________________________________________________________________________
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4.5RNF—IDRA. ARG E

RRIIT—IDEDIRER

- REA (tAm) =& (L2 R)
B RFIDRIAEIER, FSRIDIRIB E &6 (CIEI - F I BAEM)

- EIREE) (U1 DIL)

TRAZEN K DIGHIR T, FERARICEDIRESNDZEE
- ZEIZEE (S —XF))

(BE) 1FZREETIRANEH

- AHAIZEE (/1 X)
LROZE THRETERNLDR, SFHNN DTRRAIES
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2023F12H 238 =

4.BFRINF—HDRA. DB E
CSVI7ALIDIYI> b

from google.colab import files

uploaded = files.upload()

import pandas as pd
import io

XDated|Z=Bft7—F EUTHERTD
df = pd.read_csv(io.BytesIO(uploaded['sample_covid19.csv']) ,
parse_dates=['Date'])
df
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4.5RNF—IDRA. ARG E

ITNiRO S IJTRIR
import matplotlib.pyplot as plt

plt.plot(df{'Date'], df['Tokyo'])
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2023F12H 238 =

4.5RNFT—IDRA. ARG E

HFNRD S I TRE

plt.plot(df['Date'], df['Tokyo'])
# BREZEMIDE. BISTNEROTERREND
plt.plot(df['Date'], df['Ibaraki'])

5000

4000

3000
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4.5RNF—IDRA. ARG E

HNRD S I TRE

plt.plot(df['Date'], df['Tokyo'], label="Tokyao")
plt.plot(df['Date'], df['Ibaraki'], label="Ibaraki")
plt.plot(df['Date'], df['Hokkaido'], label="Hokkaido")
plt.plot(df['Date'], df['Kanagawa'], label='Kanagawa')
plt.plot(df['Date'], df['Aomori'], label="'Aomori")
plt.legend()

XBR(CGNIVEERL, FBIICKRREES
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2023F12H 238 =
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